Paper sensor is always detected without paper also. Earlier we used SN74LS06 IC and now we are using SN74AHC05.
 
1. Paper sensor is connected to J3 Connector, output of paper sensor is compared with LM393 IC and PESENSE signal connected to SN74AHC05 IC. 
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2. PESENSE Signal connected to SN74AHC05. Output of PESENSE1 signal is connecte to MCU pin.
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3. PESENSE1 signale is connected to MCU 91st pin
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[bookmark: _GoBack]Pls find the voltage refence value with/without paper for both devices.
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OLD OK BOARD WITH 741506 IC

PE CONNECTOR. P AMP 7aL506-0ld
Measured Measured Measured
Condition | Pin# _|Voltage ()| value(in Vo) | pin# _|Voltage (v)| valve(inVoiy) | Pin#_|Vottage (v)| vaiuein Vol
1 128 1252 1 168 153 [Bup] 1 1735
2 276 2997 2 262 2612 [10/] eom 0051
Without paper |3 160m o
Measured Measured Measured
Pin#_|Voltage (v)| value(in Voit) | Pin# | Vottage (v)| value(inVolt) | Pin# | Voltage (v)| value(in Vor)
1 122 1227 1 20m XTI EETUCY MY 0.002
Withpaper | 2 | 2e0m 0200 2 250 2505 [ o/p] 332 3300
5 o o

NEW NOT OK BOARD WITH TAAROS €
PE CoNNECToR op A Taaicos

== == ==
Condition Pin# _|Voltage (V)| value(in Volt) | Pin# |Voltage (V)| value(inVolt) | Pin# |Voltage (V)| value(in Volt)
T [ e [ ot | 1 | i [ oow Jmum] in

2 276 500 2 262 26¢  [12(0/7)] &0m
Without paper |3 160m o
Measured Measured Measured

Pin# _|Voltage (V)| value(in Volt) | Pin# |Voltage (V)| value(inVolt) | Pin# |Voltage (V)| value(in Volt)
T [ 1 [ 1w | 1 | em [ o Imom| o
With paper 2 240m 0199 2 264 2639 12 (0/P) 332 3298

5 o o
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